Edge of Arlington Saw & Tool, Inc.

124 South Collins Arlington, TX 76010

Phone:817-461-7171 • Fax: 817-795-6651

Toll Free: 888-461-7171 Email: <u>info@eoasaw.com</u> Website: www.eoasaw.com



Diablo® Tools Saw Blades

Thank you for shopping with us!

Tracking Point Tooth Geometry for enhanced tracking control & superior ease of feed. Tico Hi-Density Carbide with Titanium & Cobalt for long cutting life. Perma-Shield Coating for less drag, gumming, and corrosion. Optimized for Corded & Cordless Tool - up to 65% more cuts per battery charge.

| Item # | Manufacturer | Arbor | Diameter | Teeth | Hook Angle | Kerf | Plate | Application | Unit Price | Pack Quantity | Price |
|--------|--------------|-------|----------|--------|---------------|---------|-------------|---|---------------|------------------|---------|
| D0436X | Diablo Tools | N/A | 4 3/8 in | 36 ATB | 5 deg | .049 in | 0.039 in | Wood Cutting: ideal for Smooth finish crosscuts | | 1 | \$17.74 |
| D0516X | Diablo Tools | N/A | 5 3/8 in | 16 ATB | 18 deg | .049 in | 0.039 in | Cutting Wood Framing: ideal for General construction applications | | 1 | \$14.14 |
| D0524X | Diablo Tools | N/A | 5 3/8 in | 24 ATB | 18 deg | .049 in | 0.039 in | Cutting Wood Framing: ideal for General construction applications | | 1 | \$16.15 |
| D0536X | Diablo Tools | N/A | 5 3/8 in | 36 ATB | 2 deg | .049 in | 0.039 in | Smooth finish crosscuts in hardwood, softwood, or plywood | | 1 | \$19.53 |

| D0620X | Diablo Tools | 1/2 in | 6 in | 20 ATB | 18 deg | .049 in | 0.039 in | General construction applications, including fast, efficient ripping & crosscutting | | 1 | \$15.49 |
|--------|--------------|---------------|----------|--------|--------|---------|-------------|---|---------|----|----------|
| D0640X | Diablo Tools | 1/2 in | 6 in | 40 ATB | 18 deg | .049 in | 0.039 in | Smooth finish crosscuts in hardwood, softwood, or plywood | | 1 | \$19.04 |
| D0624X | Diablo Tools | 5/8 in | 6 1/2 in | 24 ATB | 18 deg | .059 in | 0.039 in | General construction applications, including fast, efficient ripping &crosscutting | | 1 | \$13.03 |
| D0641X | Diablo Tools | 5/8 in | 6 1/2 in | 40 ATB | 15 deg | .059 in | 0.039 in | Smooth finish crosscuts in hardwood, softwood, or plywood | \$18.74 | 1 | \$187.43 |
| D0724W | Diablo Tools | 5/8 in | 7 1/4 in | 24 ATB | 15 deg | .059 in | 0.04 in | General construction, framers, roofers, remodelers, concrete formers | \$11.70 | 10 | \$117.03 |
| D0724X | Diablo Tools | 5/8 in | 7 1/4 in | 24 ATB | 15 deg | .059 in | 0.04 in | General construction, framers, roofers, remodelers, concrete formers | | 1 | \$12.31 |
| D0740X | Diablo Tools | 5/8 in | 7 1/4 in | 40 ATB | 15 deg | .059 in | 0.04 in | High quality crosscuts and rip cuts in wood, plywood & melamine | | 1 | \$18.30 |
| D0760X | Diablo Tools | 5/8 in < > | 7 1/4 in | 60 ATB | 10 deg | .059 in | 0.04 in | Ultra Finish crosscuts and rip cuts in wood, plywood & melamine | | 1 | \$22.65 |
| D0824X | Diablo Tools | 5/8 in | 8 in | 24 ATB | 15 deg | .094 in | 0.063 in | General construction applications, including fast, efficient ripping & crosscutting | | 1 | \$20.17 |
| D0840X | Diablo Tools | 5/8 in | 8 in | 40 ATB | 15 deg | .094 in | 0.063 in | Smooth finish crosscuts in hardwood, softwood, or plywood | | 1 | \$34.37 |
| D0840S | Diablo Tools | 5/8 in | 8.5 in | 40 ATB | 15 deg | .094 in | 0.063 in | Cutting oak, pine, plywood, pressure-treated lumber, beams | | 1 | \$37.32 |
| D1040X | Diablo Tools | 5/8 in | 10 in | 40 ATB | 15 deg | .098 in | 0.071 in | High quality general purpose crosscuts & rip cuts | | 1 | \$40.61 |
| | | | | | | | | | | | |

| D0860S | Diablo Tools | 5/8 in | 8.5 in | 60 ATB | 7 deg | .087 in | 0.063 in | High quality crosscuts and rip cuts in wood, plywood, and melamine | 1 | \$54.12 |
|---------|--------------|--------|----------|---------------|--------|---------|-------------|---|-------|---------|
| D1024X | Diablo Tools | 5/8 in | 10 in | 24 ATB | 15 deg | .098 in | 0.071 in | Superior quality rip cuts in wood, plywood, and OSB | 1 | \$32.46 |
| D1050X | Diablo Tools | 5/8 in | 10 in | 50 ATB | 15 deg | .098 in | 0.071 in | High quality crosscuts & rip cuts | 1 | \$42.34 |
| D1060S | Diablo Tools | 5/8 in | 10 in | 60 ATB | 7 deg | .087 in | 0.063 in | Trim carpenters: requires little to no sanding | 1 | \$56.02 |
| D1060X | Diablo Tools | 5/8 in | 10 in | 60 Hi- ATB | 15 deg | .098 in | 0.071 in | High quality crosscuts & rip cuts | 1 | \$45.49 |
| D1080X | Diablo Tools | 5/8 in | 10 in | 80 Hi- ATB | 15 deg | .098 in | 0.071 in | Chip-free cuts in veneered plywood, melamine, and MDF | 1 | \$60.34 |
| D1090X | Diablo Tools | 5/8 in | 10 in | 90 ASFG | 10 deg | .087 in | 0.04 in | Superior quality finishes on fine molding, hardwoods, softwoods, veneered plywood, and more | 1 | \$65.83 |
| D1040W | Diablo Tools | 5/8 in | 10.25 in | 40 ATB | 18 deg | .087 in | 0.063 in | General purpose crosscuts/rip cuts in pressure-treated wood, plywood, rafters, beams & more | 1 | \$40.18 |
| D1244X | Diablo Tools | 1 in | 12 in | 44 ATB | 15 deg | .098 in | 0.071 in | High quality general purpose crosscuts & rip cuts in wood, plywood, OSB | 1 | \$39.31 |
| D1260X | Diablo Tools | 1 in | 12 in | 60 COMB | 15 deg | .118 in | 0.071 in | High quality crosscuts and rip cuts in wood, plywood, and melamine | 1 | \$48.46 |
| D1280X | Diablo Tools | 1 in | 12 in | 80 Hi- ATB | 15 deg | .118 in | 0.087 in | Chip-free cuts in veneered plywood, melamine, and MDF | 1 | \$64.13 |
| D12100X | Diablo Tools | 1 in | 12 in | 100 ASFG | 7 deg | .098 in | 0.071 in | Superior quality finishes on fine molding, hardwoods, softwoods, and more | 1 | \$74.14 |

| D1484X | Diablo Tools | 1 in | 14 in | 84 ATB | 15 deg | .118 in | 0.087 in | High quality crosscuts and rip cuts in wood, plywood, and melamine | 1 | \$88.78 |
|---------|--------------|--------|------------|------------|--------|-------------|-------------|--|-------|----------|
| D1632X | Diablo Tools | 1 in | 16 5/16 in | 32 ATB | 2 deg | .114 in | 0.079 in | General purpose crosscuts/rip cuts in Paralam™ rafters, beams, posts, LVL, oak, pine | 1 | \$115.52 |
| D1660X | Diablo Tools | 1 in | 16 5/16 in | 60 ATB | 2 deg | .114 in | 0.079 in | Timber framing: smooth surface that requires little to no sanding | 1 | \$143.13 |
| D1084L | Diablo Tools | 5/8 in | 10 in | 84 TCG | 5 deg | 0.098 in | 0.071 in | Brass, Aluminum, Copper, Plastics, Laminate Flooring, Melamine, Wood. | 1 | \$67.13 |
| D0756N | Diablo Tools | 5/8 in | 7 1/4 in | 56 TCG | -6 deg | 0.106 in | 0.087 in | Cutting aluminum, copper, plastics, brass, and fiberglass | 1 | \$37.47 |
| D1296L | Diablo Tools | 1 in | 12 in | 96 TCG | 5 deg | 0.098 in | 0.071 in | Brass, Aluminum, Copper, Plastics, Laminate Flooring, Melamine, Wood | 1 | \$78.63 |
| D1080N | Diablo Tools | 5/8 in | 10 in | 80 TCG | -5 deg | 0.094 in | 0.071 in | Cutting aluminum, copper, plastics, brass, and fiberglass | 1 | \$64.64 |
| D1296N | Diablo Tools | 1 in | 12 in | 96 TCG | -5 deg | 0.091 in | 0.071 in | Cutting aluminum, copper, plastics, brass, and fiberglass | 1 | \$74.18 |
| D0654N | Diablo Tools | 5/8 in | 6 1/2 in | 54 TCG | 0 deg | 0.083 in | .063 in | Cutting aluminum, copper, plastics, brass, and fiberglass | 1 | \$36.95 |
| D0552N | Diablo Tools | 5/8 in | 5 7/8 in | 52 CG | -5 deg | .061 in | .039 in | Cutting aluminum, copper, plastics, brass, and fiberglass | 1 | \$33.60 |
| D1060N | Diablo Tools | 5/8 in | 10 in | 60 TCG | -5 deg | .11 in | .087 in | Cutting aluminum, copper, plastics, brass, and fiberglass | 1 | \$53.75 |
| D10100N | Diablo Tools | 5/8 in | 10 in | 100 TCG | -5 deg | .091 in | .071 in | Cutting aluminum, copper, plastics, brass, and fiberglass | 1 | \$74.58 |
| D1272N | Diablo Tools | 1 in | 12 in | 72 TCG | -5 deg | .11 in | .087 in | Cutting aluminum, copper, plastics, brass, and fiberglass | 1 | \$73.85 |

| D14108N D1ablo Tools Tin Tin | D12120N | Diablo Tools | 1 in | 12 in | 120 TCG | -5 deg | .091 in | .071 in | Cutting aluminum, copper, plastics, brass, and fiberglass | | 1 | \$94.30 |
|--|------------|--------------|--------|----------|------------|--------|---------|---------|---|---------|----|----------|
| D0624A Diablo Tools 5/8 in 6 1/2 in 24 ATB 18 deg in 0.059 in 0.039 in applications, including fast, efficient ripping, crosscutting \$11.48 10 \$114.75 D0724A Diablo Tools 5/8 in 7 1/4 in 24 ATB 15 deg in 0.059 in 0.04 in applications, including fast, efficient ripping, crosscutting \$11.70 10 \$117.03 D053818WMX Diablo Tools 20mm 5 3/8 in 18 ATB 18 deg in 0.049 in 0.039 in Framing and panelling 1 \$13.89 D055018WMX Diablo Tools 5/8 in 6 1/2 in 40 ATB 15 deg in 0.059 in 0.039 in Framing and panelling 1 \$13.89 D0641A Diablo Tools 5/8 in 6 1/2 in 40 ATB 15 deg in 0.059 in 0.039 in Framing and panelling 1 \$13.89 D0740A Diablo Tools 5/8 in 10 in 30 ATB 15 deg .094 in .071 in Superior quality rip cuts 1 \$34.52 | D14108N | Diablo Tools | 1 in | 14 in | 108 CG | -5 deg | .118in | .098 in | | | 1 | \$100.16 |
| D0724A Diablo Tools 5/8 in 7 1/4 in 24 ATB 15 deg in 0.04 in efficient ripping, crosscutting \$11.70 10 \$117.03 D053818WMX Diablo Tools 20mm 5 3/8 in 18 ATB 18 deg in 0.049 in in 0.039 in Framing and paneling 1 \$13.89 D055018WMX Diablo Tools 20mm 5 1/2 in 18 ATB 18 deg in 0.049 in in Framing and paneling 1 \$13.89 D0641A Diablo Tools 5/8 in 6 1/2 in 40 ATB 15 deg in 0.059 in 0.039 in Smooth finish crosscuts in hardwood, softwood, or plywood \$18.74 10 \$187.43 D0740A Diablo Tools 5/8 in 7 1/4 in 40 ATB 15 deg in 0.04 in High quality crosscuts and rip cuts in wood, plywood & melamine \$17.70 10 \$12.21 D0660A Diablo Tools 5/8 in 7 1/2 in 60 ATB 10 deg in .057 in .039 in Ultra Finish crosscuts and rip cuts in wood, plywood & melamine \$24.13 10 \$241.33 D0660A </td <td>D0624A</td> <td>Diablo Tools</td> <td>5/8 in</td> <td>6 1/2 in</td> <td>24 ATB</td> <td>18 deg</td> <td></td> <td></td> <td>applications, including fast,</td> <td>\$11.48</td> <td>10</td> <td>\$114.75</td> | D0624A | Diablo Tools | 5/8 in | 6 1/2 in | 24 ATB | 18 deg | | | applications, including fast, | \$11.48 | 10 | \$114.75 |
| D053818WMX Diablo Tools 20mm 5 3/8 in 18 ATB 18 deg in in Framing and paneling 1 \$13.89 D055018WMX Diablo Tools 20mm 5 1/2 in 18 ATB 18 deg in 0.049 in 0.039 in Framing and paneling 1 \$13.89 D0641A Diablo Tools 5/8 in 6 1/2 in 40 ATB 15 deg in 0.059 in 0.039 in Smooth finish crosscuts in hardwood, softwood, or plywood & relywood of plywood of plywood of plywood or plywood of plywood in hardwood, softwood, or plywood in hardwood, softwood, or plywood & relywood in hardwood, plywood & relywood in hardwood, plywood & relywood in hardwood, plywood & relywood, plywood, plywood, plywood, plywood, plyw | D0724A | Diablo Tools | 5/8 in | 7 1/4 in | 24 ATB | 15 deg | | 0.04 in | applications, including fast, | \$11.70 | 10 | \$117.03 |
| D0641A Diablo Tools 5/8 in 6 1/2 in 40 ATB 15 deg in in Framing and paneling 1 \$13.89 | D053818WMX | Diablo Tools | 20mm | 5 3/8 in | 18 ATB | 18 deg | | | Framing and paneling | | 1 | \$13.89 |
| D0641A Diablo 100ls 5/8 in 6 1/2 in 40 ATB 15 deg in in hardwood, softwood, or plywood \$18.74 10 \$187.43 D1030X Diablo Tools 5/8 in 10 in 30 ATB 15 deg .094 in .071 in Superior quality rip cuts 1 \$34.52 D0740A Diablo Tools 5/8 in 7 1/4 in 40 ATB 15 deg 0.059 in 0.04 in High quality crosscuts and rip cuts in wood, plywood & stand ri | D055018WMX | Diablo Tools | 20mm | 5 1/2 in | 18 ATB | 18 deg | | | Framing and paneling | | 1 | \$13.89 |
| D0740A Diablo Tools 5/8 in 7 1/4 in 40 ATB 15 deg in 0.059 in 0.04 in melamine High quality crosscuts and rip cuts in wood, plywood & melamine \$17.70 10 \$12.21 D0660A Diablo Tools 6 1/2 in 60 ATB 10 deg .057 in .039 in Ultra Finish crosscuts and rip cuts in wood, plywood & melamine \$24.13 10 \$241.33 D0760A Diablo Tools 5/8 in 7 1/2 in 60 ATB 10 deg 0.059 in 0.04 in Ultra Finish crosscuts and rip cuts in wood, plywood & melamine \$21.51 10 \$215.13 D0632GPA Diablo Tools 5/8 in 6 1/2 in 32 C- ATB 5 deg .059 in .051 in Wood with nails as well as the durability for creating clean, \$27.15 5 \$135.75 | D0641A | Diablo Tools | 5/8 in | 6 1/2 in | 40 ATB | 15 deg | | | | \$18.74 | 10 | \$187.43 |
| D0740A Diablo Tools 5/8 in 7 1/4 in 40 ATB 15 deg in 0.039 in 0.04 in melamine cuts in wood, plywood & melamine \$17.70 10 \$12.21 D0660A Diablo Tools 6 1/2 in 60 ATB 10 deg in .057 in .039 in Ultra Finish crosscuts and rip cuts in wood, plywood & melamine \$24.13 10 \$241.33 D0760A Diablo Tools 5/8 in 7 1/2 in 60 ATB 10 deg in 0.059 in 0.04 in cuts in wood, plywood & melamine \$21.51 10 \$215.13 D0632GPA Diablo Tools 5/8 in 6 1/2 in 32 C- ATB 5 deg .059 in .051 in Wood with nails as well as the durability for creating clean, \$27.15 5 \$135.75 | D1030X | Diablo Tools | 5/8 in | 10 in | 30 ATB | 15 deg | .094 in | .071 in | Superior quality rip cuts | | 1 | \$34.52 |
| D0660A Diablo Tools 6 1/2 in 60 ATB 10 deg .057 in .039 in melamine cuts in wood, plywood & melamine \$24.13 10 \$241.33 D0760A Diablo Tools 5/8 in 7 1/2 in 60 ATB 10 deg in 0.059 in 0.04 in melamine Ultra Finish crosscuts and rip cuts in wood, plywood & melamine \$21.51 10 \$215.13 D0632GPA Diablo Tools 5/8 in 6 1/2 in 32 C-ATR 5 deg .059 in .051 in Wood with nails as well as the durability for creating clean, \$27.15 5 \$135.75 | D0740A | Diablo Tools | 5/8 in | 7 1/4 in | 40 ATB | 15 deg | | 0.04 in | cuts in wood, plywood & | \$17.70 | 10 | \$12.21 |
| D0760A Diablo Tools 5/8 in 7 1/2 in 60 ATB 10 deg in 0.04 in cuts in wood, plywood & \$21.51 10 \$215.13 D0632GPA Diablo Tools 5/8 in 6 1/2 in 32 C- ATR 5 deg .059 in .051 in durability for creating clean, \$27.15 5 \$135.75 | D0660A | Diablo Tools | | 6 1/2 in | 60 ATB | 10 deg | .057 in | .039 in | cuts in wood, plywood & | \$24.13 | 10 | \$241.33 |
| D0632GPA Diablo Tools 5/8 in 6 1/2 in $\frac{32 \text{ C}}{\text{ATB}}$ 5 deg .059 in .051 in durability for creating clean, \$27.15 5 \$135.75 | D0760A | Diablo Tools | 5/8 in | 7 1/2 in | 60 ATB | 10 deg | | 0.04 in | cuts in wood, plywood & | \$21.51 | 10 | \$215.13 |
| | D0632GPA | Diablo Tools | 5/8 in | 6 1/2 in | | 5 deg | .059 in | .051 in | durability for creating clean, | \$27.15 | 5 | \$135.75 |

| D0736GPA | Diablo Tools | 5/8 in | 7 1/4 in | 36 C- ATB | 5 deg | .067 in | .051 in | Wood with nails as well as the durability for creating clean, burr-free cuts in metal | \$24.38 | 5 | \$121.88 |
|------------|--------------|---------------|----------|--------------|--------|-------------|-------------|---|---------|---|----------|
| D053830FMX | Diablo Tools | 20mm | 5 3/8 in | 30 TCG | 2 deg | 0.059 in | 0.039 in | Mild Steels | | 1 | \$31.15 |
| D055030FMX | Diablo Tools | 20mm | 5 1/2 in | 30 TCG | 2 deg | 0.059 in | 0.039 in | Mild Steels | | 1 | \$31.15 |
| D0748CFA | Diablo Tools | 5/8 in | 7 1/4 in | 48 TCG | 2 deg | 0.075 in | 0.063 in | Mild Steels | \$37.14 | 5 | \$185.71 |
| D053850NMX | Diablo Tools | 20mm | 5 3/8 in | 50 TCG | -5 deg | .061 in | .039 in | Cutting aluminum | | 1 | \$37.32 |
| D055050NMX | Diablo Tools | 20mm | 5 1/2 in | 50 TCG | -5 deg | .061 in | .039 in | Cutting aluminum | | 1 | \$37.32 |
| D0424X | Diablo Tools | | 4 1/2 in | 24 ATB | 20 deg | 0.059 in | 0.039 in | Framing, Remodeling/Demolition, Siding/Decking | | 1 | \$13.83 |
| D1040A | Diablo Tools | 5/8 in | 10 in | 40 ATB | 15 deg | 0.098 in | 0.071 in | High quality general purpose crosscuts and rip cuts in wood, plywood, and OSB | \$38.93 | 5 | \$194.65 |
| D0660X | Diablo Tools | 5/8 in < > | 6 1/2 in | 60 ATB | 5 deg | .059 in | .051 in | Ultra Finish crosscuts and rip cuts in wood, plywood & melamine | | 1 | \$143.13 |
| D0632GPX | Diablo Tools | 5/8 in | 6 1/2 in | 32 C- ATB | 5 deg | .059 in | .051 in | Wood with nails as well as the durability for creating clean, burr-free cuts in metal | | 1 | \$28.51 |
| D0736GPX | Diablo Tools | 5/8 in | 7 1/4 in | 36 C- ATB | 5 deg | .067 in | .051 in | Wood with nails as well as the durability for creating clean, burr-free cuts in metal | | 1 | \$25.59 |
| D0748CFX | Diablo Tools | 5/8 in | 7 1/4 in | 48 TCG | 2 deg | 0.075 in | 0.063 in | Mild Steels | | 1 | \$38.07 |
| D0756NA | Diablo Tools | 5/8 in | 7 1/4 in | 56 TCG | -6 deg | 0.106 in | 0.087 in | Cutting aluminum, copper, plastics, brass, and fiberglass | \$35.59 | 5 | \$177.94 |